H E #H B =R
THEXS) T fE B il & HAT| e i &
PEK T (i) K 1
+T =\ 1
B T X
o+ m2 17 16. 6
- m2 13 13.2
% e X 1
1w m3 54]  75.6-(0.6+19.1)/0.9
E¥E+LT =X 1
PRI +w m3 76 75.6
MR e R B | m A i m3 20. 0 0.6+19. 1
FEmHEIE m2 7
KT
KB 1 1
A K m 4.9
27—k o ck=18N/mm2 m3 2.6 5.37 m3/10m
T /NS m2 27.8 56.6 m2/10m
£k D13 SD345 kg 151. 2 308 kg/10m
BHLarz—rh o ck=18N/mm2 m3 0.5 1.1 m3/10m
T XL m2 1.0 2.0 m2/10m
SEiE A RC-40 £=200 m2 5.4 11.0 m2/10m
FEar 7 U—F t=100 o ck=18N/mm2 W 1




T BT ¥ B B B #F
Al T Ul b m R IR A
Wr ) B & Wr i 1y B & Wr i ) &
72 il
NO.9  +13.70 0.0 — — 0.0 — — NO. 9+12. 9K i
NO.9  +16.50 2. 80 0.5 0.25 0.7 2.0 1. 00 2.8
NO.9  +19.61 3.11 5. 4 2.95 9.2 0.2 1. 10 3.4
it 5.91 9.9 6.2
Al
NO.9  +13.70 0.0 — — 0.6 — — NO. 9+12. 9K
NO.9  +16.50 2. 80 1.9 0.95 2.7 2.0 1. 30 3.6
NO.9  +19.61 3.11 0.7 1. 30 4.0 0.2 1. 10 3.4
it 5.91 6.7 7.0
&t 16.6 |jm’ 13.2 |lm*




KT UK 3% B2+ T ¥ B H HE &
) N PR R (W= 1. Om) B (1. 0=W< 2. 5m) -
I AL I — — — i
Wr T A ¥ & Wr RIS} ¥ & Wr A ¥ &
NO.9  +13.70 6.0 — — 3.5 — — || NO. 9+12. 9WFiEi
NO.9  +16.50 2. 80 18. 4 12. 20 34.2 0.0 — — 4.8 4,15 11.6
NO.9  +19.61 3. 11 8.2 13. 30 41. 4 0.4 0. 20 0.6 0.0 2. 40 7.5
Atk 5.91 75.6 |m’ 0.6 [’ 19.1 |’




KK T iy N B i B &
o LT B — _ _ S i &
R = &= ¥ T &
NO.9  +13.70 — — NO. 9+12. 9JKT
NO.9  +16.50 2. 80 1. 10 3.1
NO.9  +19.61 3. 11 1. 10 3.4
Atk 5.91 6.5 0.0 [
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1300 46

950 150

&l
avyl)y—»4F
o ck=18N/mm’
4 I i % B =X 1034 0 $e &
a7 JY—F
o ck= 18N/mn2 (1.30 +1/2X0.046) X0.10X5.91X2 e o
pinl]
j: y (1.30X0.10+0. 046 X 0. 10/2 +0.083X5.91) X2
o

1.25
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1000
200, 600 200
I EEEEEEFME s=1:2
g g _:\; -— g 8 20
0010
735 EJ:#
1000 100100
200 600 200
piE—fgm T-14 §I EI
/ Mg 600 x 600 (mm)
735
! / % \ D13 surmms
2 b3
: RHe 8
o § s 8 W=200 s
g - avyy—t
o ck=18N/mm’
w
600 200
200
1100
pa R B = IR
a7 JY—h 1.0072X1.80 —{0.60°2X (1.65-0.061)+0. 735" 2 X
o ck=18N/mm2 0.061+0. 60X 1. 10X 0.20X 2} 3
0.93 m
e (1. 00+0. 60) X 1.80X4 +0.20X (1. 10X 4+0. 60X 2)-0. 60 X
T
iy 1.10x4 10.00 2
Bk T
%Eﬁf;g 1.10X 1. 10
1.21 m’
WA T-14
@ 0.6X0.
PNIE 0. 6X 0. 6m L

JeH4 E D13
S 12 DI W=200

4 &




£ O UBRIK % o= B B OE
900
150 600 . 150
(] ] 3
q 2
R2_D1
il o
ol § R1_D13@200 S
g =2 L/ L=3.38m T8
gl
™D
X
<
3
8 — £
g C Q av 91—k ockz18N/mn’
HLarysy—=~
HEERE RC-40
50265 | 270_| 2654
10 900 10
1100
fIEEE h=6.6/4.91 = 1.34 m
4 W B =X 10. 0m¥4 v %kt
ar7 J—h
k= 18N/ m2 0. 15X (1. 34X 2+0. 90) X 10. 0 R
pinll
i?ﬁﬁw (1. 49+1. 34) X2X10.0
S 56.60 m’
BEAHD13 AR S
SD345 208 ke
S N 1] —
ﬁji;’&f/z M 1.10%0.10%10.0
g e= 1.10 m3
SRPEN|
LT 0.10X2x10.0
2.00
Ky AN
%_EEOE*E 1.10X10.0
e 11.00
L h Yy A
NO. 9 +14.70 1. 450
NO. 9 +16. 50 1.80 1. 450 1. 450 2.61
NO. 9 +18.90 2. 40 1. 450 1. 450 3.48
NO. 9 +19. 61 0.71 0. 000 0.725 0.51
at 4.91 m 6.6 m’




FHh F T ORERE i

L=100m
W=1. 5m

FREL 100mX 1. bm X 1/2 75m2

VUYL o) 75m2 X 0. 1 7.5m3



H E #H B =K
TEHEXSy T f f& Rl A Bl Bk HAr| e i 5
PEAK T OKE) = 1
+T = 1
LT =X 1
27 J— MR ImA i m3 2.2 2. 20
% 1 ALEg X 1
R m3 43.0 95. 4-47.2/0. 9
HEK T X 1
EXLT X 1
PR A m3 95.0 95. 4
MR m3 47.0 15.3
31.9
LR m2 46. 0 46. 2
657K i m 11.2
ayv 7 J—L o ck=18N/mm2 m3 4.0 3.56 _m3/10m
AU /NI S m2 33.7 30.1 m2/10m
k5 D13 SD345 kg 235 210 kg/10m
YlLar 7 J—h o ck=18N/mm2 m3 1.1 0.95 m3/10m
Tl KL m2 1.1 1 m2/10m
TR RC-40 t=200 m2 10. 6 9.5 m2/10m
M T-14 J#E 550mm K 11.2 10 #/10m
-1 5K m 4.5
ayv 7 J—L o ck=18N/mm2 m3 1.5 3.32 m3/10m
T JNRIRE S ) m2 13.8 30.6_m2/10m
k5 D13 SD345 kg 92 203 kg/10m
BlLarvz)—k o ck=18N/mm2 m3 0.5 1.1 m3/10m
Tl KL m2 0.9 2 m2/10m
TR RC-40 t=200 m2 5.0 11 _m2/10m




H E #H B =K

TEHEXSy T f fE B A Bl Bk AT B i 5
TS T-14 J#IE 600mm K 4.5 10 #/10m

-2 5K m 10. 7
ayv 7 J—L o ck=18N/mm2 m3 3.3 3.05 m3/10m
TR /NI ) m2 14. 4 13.5 m2/10m
5 D13 SD345 kg 186 174 kg/10m
BLarz)—h o ck=18N/mm2 m3 1.1 1 m3/10m
Tl KL m2 1.1 1 m2/10m
TR RC-40 t=200 m2 10. 7 10 m2/10m
M T-14 J#IE 600mm K 10.7 10 #/10m

7-3 5K m 5.4
ayv 7 J—L o ck=18N/mm2 m3 1.6 3.02 m3/10m
T SN YE ) m2 14. 4 26.6 m2/10m
5 D13 SD345 kg 93 172 kg/10m
BHlLarvz)—k o ck=18N/mm2 m3 0.6 1.1 m3/10m
Tl KL m2 1.1 2 m2/10m
TR RC-40 t=200 m2 6.0 11 _m2/10m
M T-14 J#IE 600mm K 5. 4 10 #/10m

-4 5K m 9.7
ayv 7 J—L o ck=18N/mm2 m3 3.4 3.47 m3/10m
TR /NI ) m2 15. 8 16.3 m2/10m
5 D13 SD345 kg 188 194 kg/10m
BLarz)—h o ck=18N/mm2 m3 1.0 1 m3/10m
Tl KL m2 1.0 1 m2/10m
TR RC-40 t=200 m2 9.7 10 m2/10m
TS T-14 J#E 600mm e 9.7 10 #/10m

7-5 5K m 3.3
ayv 7 J—L o ck=18N/mm2 m3 1.7 5.18 m3/10m
T SN YE ) m2 18. 4 55.4 m2/10m




H E #H B =K
TEHEXSy T f fE B A Bl B AT B i 5
k5 D13 SD345 kg 50 150 kg/10m
BHLarz)—k o ck=18N/mm2 m3 0.4 1.1 m3/10m
Tl KL m2 0.7 2 m2/10m
TR RC-40 t=200 m2 3.7 11 _m2/10m
M T-14 J#E 600mm e 3.3 10 #/10m
& T
15 kT X 1| —HEBMEEIEA
25 @ T m 43.5
a7 J—h t=100 = 1
HiAE1E 1H T X 1
LT X 1
)= FHEERIE A, t=50 m2 106
T R RC—40, t=150 m2 106
S RCE T
XS EEE LT o s U — REUEL a7 U —h m3 8.4 8.4X2.3+10=2%
AsEiZE T > Z — D)l t=50 m 11.9
AsERIE U L £=50 m2 126. 6 126. 6 X 0. 05=6. 3m3
s S AL P m3 6.3 6.3X2. 35=14. 8t
b oo— L ¢ 20082 m 4.2
HIHT
IR i av 7 J—k o ck=18N/mm2 m3 0.4 0. 40
R L
B R m2 65. 0




%+ B2 3 H £
. o %+ (con)W<1. Om ”
Hox s FET B —— — — fi
Wr o= By N | = Wr i S I =
NO. 7 + 8. 87 0.2 — — NO. 7+14. 50
NO. 7 +14. 50 5. 63 0.2 0. 20 1.1
NO. 8 5. 50 0.2 0. 20 1.1
NO. 8 + 0. 08 0. 08 0.2 0. 20 0.0 NO. 8i#r i
At 11.21 2.2 [’




KT UH K EELT B B M O H &
Al R PRAE R (W= 1. Om) B (1. 0=W<2. 5m) [T
Wr T N & Wr i 1y B & Wr i N B &
65 UK
NO.7  + 8.87 1.6 — — 0.7 — — |LNO. 7+14. 500K
NO.7  +14.50 5.63 1.6 1. 60 9.0 0.7 0.70 3.9
NO. 8 5. 50 1.7 1. 65 9.1 0.7 0. 70 3.9
NO.8  + 0.08 0. 08 1.7 1. 70 0.1 0.7 0.70 0.1 |[ No. 8[¥r i
at 11.21 18.2 7.9
75U K
NO.8  + 0.08 1.7 — — 0.0 — — 0.7 — — _|[.No. 8i¥rimi
NO.8  + 4.60 4.52 1.5 1. 60 7.2 0.6 0. 30 1.4 0.0 0. 35 1.6 || NO. 8+9. 95K i
NO.8  +9.95 5.35 1.5 1. 50 8.0 0.6 0. 60 3.2 0.0 — —
NO. 9 10. 05 2.3 1. 90 19. 1 0.5 0.55 5.5 0.8 0. 40 4.0
NO.9  + 5.20 5. 20 1.4 1.85 9.6 0.6 0.55 2.9 0.0 0. 40 2.1
NO.9  +12.90 7.70 6.0 3.70 28.5 0.0 0. 30 2.3 3.5 1.75 13.5
NO.9  +13.70 0.80 6.0 6. 00 4.8 3.5 3. 50 2.8 |[ NO. 9+12. 9 i
it 33. 62 77. 20 15. 30 24. 00
&t 95. 4 15.3 31.9 [’




KT UB K % EELT B B M O H &
W T TR T
Wr N B & Wr Tl 1 L5 Wr i N B &
65 UK
NO.7  + 8.87 .0 — — NO. 7+14. 5007 i
NO.7  +14.50 5.63 .0 1. 00 5.6
NO. 8 5. 50 .0 1. 00 5.5
NO.8  + 0.08 0. 08 .0 1. 00 0.1 NO. 8147 i
it 11.21 11.2
75U K
NO.8  + 0.08 .0 — — NO. 8147 ifi
NO.8  + 4.60 4.52 .0 1. 00 4.5 NO. 8+9. 95K
NO.8  +9.95 5.35 .0 1. 00 5.4
NO. 9 10. 05 .1 1.05 10. 6
NO.9  + 5.20 5. 20 .0 1.05 5.5
NO.9  + 12.90 7.70 .1 1. 05 8.1
NO.9  + 13.70 0. 80 1 1. 10 0.9 NO. 9+12. 9 i
i 33.62 35. 00
= 46. 2




Ry 7 ) — |k o & B B E
NO. 9+12. 90
980 46
550 430
%
avoy—+F
ock=18N/mm’
1:1.5 ke = (1.0+1.572) 70.5/1.5
=1.2019
£ e i % B =Y 1% 0 H &
a2 Y—Fh 1/2X ((0. 55+0. 98) X 0. 90+ (0. 98+1. 32) X 0. 80) X 0. 10
o ck=18N/mm2 +1/2X0.046X0. 10X 1. 79 3
0.16 m
?%ffﬁ”yh (0. 55+1. 32) X 0. 10+0. 083 X 1. 94
peEt 0.35
R RN IE:- | {1/2X (0. 42X 0. 90+ (0. 43+0. 75) X 0. 80) +1. 45X 0. 046}
X 1.2019 0.87 o




EPA e S UL i1 %

=
=

FER s=1:50

JNO.5{5.39

| NO|5{+5. 90

980

BrmE X mNo. 55 A)

$=1:50

NO. 4+4.36~NO0. 4+11.54 L=7.18m

Iy )—+rFYRFIF

NOQ(ﬂ*G. 38 A

BrEBE (No.5+5.90) S=1:50
NO. 5+5. 39 ~NO. 5+6. 38 L=0. 98m

Iy Y—+rFYRFIF

93 650 150 855

600

TP=0. 000

avsY— Y

836

[

BiER B faEE (B RE)

A 5 X T
2=k NO. 4+ 36~NO.4+11.54 | 1/2X0.17X0.84X7. 18 = 0.51
o ck=I8N/m2 N0 545, 39~N0. 5+6.38  1/20.19X0. 60X 0. 98 = 0.06 0.57 o
e NO. 4+4. 36~NO. 4+11.54  1/2X0. 140,84 X2 = 0.12
R NO. 5+5. 39~NO. 5+6. 38 0.60X0,98+1/2X0.19X0.60X2 = 0.70 0.82 o




850
150 550 150
EE—EE T-14 #08 550 (mm)
_ 650 §
| pid
= I I S
" b S
ol 8 e \: R2_D13 °
g = R1.D136200 3| <
/ J L=2.23m &~
S
X
~N
23
= S
o C avH y—k ock=18N/mm’
o
HyLarvyy—+»F
HE#BE RC-40
50 3 x 250=750 5(
100 850
950
{AIBEE h=8.85/11.21 =0.79 m
& 1 X 10. 0m4 Y S &
aryJ—rt _
o k= 18N/m2 {0.85X0. 94— (0. 55X 0. 79+0. 071 X 0. 06 X 2) } *10. 0 2 560 o
bidl}
ffﬁ‘ﬁw ((0. 94+0. 79) X 2-0. 5% (0. 49+0. 41)) X 10.0 )
T 30.10 m
SRS AIARF B2
210 kg
BjLar sz J—Fh
k= 18N/ 0.95X0.10X10.0 095 o
3 pidl]
LA 0.10%10. 0 ,
1.00 m
K T
SRR 0.95%10. 0
t=20cm 9.50 m
i T-14
Mg 550mm 10 #
L h S A
NO. 7 + 8.87 0. 822
NO. 7 +14. 50 5.63 0. 789 0. 806 4,54
NO. 8 5.50 0. 757 0.773 4,25
NO. 8 + 0. 08 0.08 0. 756 0. 757 0.06
3t 11.21 m 8. 85 m?
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7-1 5 UK s 6 =
900
150 600 150
BEBRA T-14 Eig
T 700 jt/
S I ] 3
o - R2_D18 -
g 3 g ¥ R1_D136200 = I
[=2.08m § 3
X
S C Q 32 Y~k ock=18N/m’
HLarysy—=~r
N _EHE®A RC-40
265 270 265
0Q 900 100
1100 L
{AJEE R h=3.1/4.52 =0.69 m
% A X 10. 0m24 ¥V %5 &
a7 Y—Fh _
AN {0.90%0. 84 —(0.60X0. 69+0. 081 X 0. 06X 2) } %10. 0 \
3.323 m
Lt N
. . X 2X10.
i (0. 84+0. 69) X2X10.0 0,60
f]‘;g’igw 2. 080 X 0. 995 X 50+10. 0 X 0, 995 X 10
203 kg
BL=arz)—hk
= Ten/me 1.10X0.10%10.0 1o
S FEI
LA 0.10X2% 10.0
2.00 m
Bk T
%EEOE*E 1.10X10.0
t=20cm 11.00 m?
B3R T-14
Y 600mm 10 &
L h Sy A
NO. 8 + 0.08 0. 756
NO. 8 + 4.60 4.52 0.616 0. 686 3.1
3t 4.52 m 3.1




725 UK %

% & 3

=
900
150 600 150
HE— R T-14 B 600 (nn)
_ 700 "
| pid
= I ] 3
o ‘*\d\f R2_D13 R1_D13@200 2
gl 3 2 L L=1.90m S o
2 %
= 9 225 Y —k gk 18N/mn’
HLarvysy—=+
N _EB#H RC-40
265 270 265 b
900 00
1000
{AIBE S h=6.44/10.67 = 0.60 m
4 B A X 10. 0m24 ¥V %5 &
a7 Y—Fh _
o 19 o2 {0.90%0. 75 (0. 60X 0. 6+0. 081 X 0. 06X 2) }#10. 0 3053 o
g N
. . 6) X 10.
— T e (0.75+0.6) X10.0 13.50 m?
kD13 1.900X 0. 995 X 50+10. 0% 0. 995 X 8
SD345 174 ke
BL=arz)—hk
=18 2 1.00X0. 10X 10. 0 oo
LA 0.10%10. 0
1.00 w’
Bk T
] 1.00%10.0
t=20cm 10.00 m?
HEH T-14
1# 15 600mm 10 #
L h St A
NO. 8 + 4.60 0.616
NO.8 + 9.95 5.35 0. 603 0.610 3.26
NO. 8 + 15.27 5.32 0. 590 0. 597 3.18
3t 10.67 m 6. 44




7-3 UK K Mo & i H OE
900
150 600 150
BE—HEA T-14 B8 600 (nm)
_ 700 ~
| pid
5 I | S
sl o M R1_D13@200 =
g 3 8 / L=1.88m g o
é Y]
g Ei.
S C Q 225 U—k ook 18N/mn’
HyLarvyy—=~F
w
b) 265 270 265 P
0Q 900 00
1100 L
{AIBEE h=3.17/5.41 =0.59 m
% A X 10. 0m24 ¥V %5 &
a7 U—F _
o k= 19N/mm2 {0.90%0. 74 (0. 60 0. 59+0. 081X 0. 06 X 2) } ¥10. 0 \
3.023 m
g N
. . X 2X10.
i (0. 74+0. 59) X 2X10.0 v 60 o
f]‘;g’igl?’ 1.860% 0. 995 X 50+10. 0% 0. 995 X 8
172 kg
BL=arz)—hk
- v 18N/m2 1.10%0. 10X 10. 0 L
S F
b LA 0.10X 2% 10.0 2
2.00 m
Bk T
%EEOE*E 1.10X10.0
t=ebem 11.00 m’
B3R T-14
1# 15 600mm 10 #
L h St A
NO. 8 + 15.27 0. 590
NO. 9 4.73 0. 580 0. 585 2.77
NO.9 + 0. 68 0. 68 0. 580 0. 585 0. 4
H 5.41 m 3.17 n?




7-4-5 UK %

¥ B FF H OE

900

150 600 150
EE—H2E T-14 #18 600 (mm)
_ 700 ”
| pid
= I I S
N
g o [, R2D13 °
g T e /] R1_D13200 el g
[=2. 18m 8| «©
%
é 9 V49 1)—k ock=18N/mm’
HyLarvsysy—+r
\M
265 270 265 b
900 00
1000 L
{AlEEE h=7.21/9.7 =0.74 m
% A X 10. 0m24 ¥V %5 &
a7 Y—Fh _
o 19 o2 {0.90>0. 89 —(0. 60X 0. 74+0. 081X 0. 06 X 2) } ¥10. 0 373 o
g N
. . 74) X 10.
i (0. 89+0. 74) X 10.0 630 o
kD13 1.900X 0. 995 X 50+10. 0% 0, 995 X 10
SD345 194 ke
BL=arz)—hk
=18 2 1.00X0. 10X 10. 0 oo
LA 0.10%10. 0
1.00 w’
Bk T
] 1.00%10.0
t=20cm 10.00 m?
HEH T-14
1# 15 600mm 10 #
L h St A
NO.9 + 0. 68 0. 580
NO.9 + 5.20 4.52 0.591 0. 586 2. 65
NO.9 + 10.38 5.18 1. 169 0. 880 4. 56
3t 9.70 m 7.21 n?




7-5 52U K #% ¥ B E B OE
900
150 600 150
700 EE—A T-14 #&i18 600 (mm)
_ [ pid
= Hc 5” ] 2
- ) \> R2_D13 % §
/ R1_D13@200 :('
L=3.32m
é C ‘Q avs Y—k ock=18N/mm’
HyLarvosy—=+
HEBEPHA RC-40
265 270 265
00Q 900 0Q
1100 %= h=4.35/3.32 =1.31 m
£ # = =y 10. Om¥4 V) %55
ary7J—h _
o 19 o2 {0.90% 1. 46 —(0. 60X 1. 31+0. 081X 0. 06 X 2) } ¥10. 0 \
5.183 m
g N
. . X 2X10.
i (1. 46+1.31) X2x10. 0 5540 o
f]‘;g’ig“ 2. 180 X 0. 995 X 5+10. 0 X 0. 995 X 14
150 kg
BL=arz)—hk
=18 2 1.10%0. 10X 10. 0 1o
£ FEI
LA 0.10X 2% 10.0 )
2.00 m
Bk T
%EEOE*E 1.10X10.0
t=20cm 11.00 w’
B3R T-14
Y 600mm 10 &
L h ety
NO.9 + 10.38 1. 169
NO.9 + 13.70 3.32 1. 450 1.310 4. 35
2t 3.32 m 4,35




S e =N = ok
15 BT & i B OE
SARBE B 150,
/ 3
"
r & 150
avs Y=+t | S EPVULLS
o ck=18N/mm’ § S o ck=18N/mm
1 a C =4 T
$# D13 ctc500mm & S8 D13 ctc500mm Q £<
L=840mn AN S L=300mm (F49) S
Bl FL ¢ 16 x 100 BI7L ¢ 16 x 100
< BEEHTEIL $12x130 BAEH T d12x130

NO. 4+4.36~N0. 4+11.54 L=7.18m

NO. 4+11.54~N0. 5+5. 39 L=13. 85m

RO AR (B EE R h=

0.84 m

L=7.18 m
S EAE 1B EBAEE R h=4.19/13.85 = 0.30 m L=13.85 m
$L=21.03 m
& R B 7\ 104 0 $ &
Sy sy —h PEBTBh=840%5 0. 15X 0. 84X 7. 18 = 0.905
0 ck = 18Y/m2 T h=300#6  0.15X0.30X13.85 = 0.623 L53 o
e PRBGABR=840%8  0.84X 7. 18 = 6.031
IR FH4 h=300%5  0.30X13.85x2 = 8.310 1434 n?
$RFD13 BB h=840%F  0.84 X (7. 18/0.50) X 0. 995 = 12.0
EF) h=300{  0.30X% (13.85/0. 50) X 0. 995 =8.3 20.3 kg
HIFL ¢ 16X 100 0.10X (21.03/0. 50) X 0. 995
4.2 m
Mgl 7L ¢ 12X 130 21.03/0. 50
42 &
PAHEEIR t= 1.5X7.2
10.8 o
L h Yy A
NO. 4 +11. 54 0.324
NO. 5 8. 46 0. 298 0.311 2.63
NO. 5 +5. 39 5.39 0. 280 0. 289 1.56
&t 13.85 m 4.19 n’




25 L ¥ & B B E
150
avo)—Fk
ock=18N/mm’
8 D13 ctc500mm S
L=410mm (£ #9) N g
o
™
I, S

HIlFL ¢ 16 x 100

BEED T 12x130

MIBE = h=17.68/43.48 = 0.41 m

Z B = 10m24 1 &
a7 U—h
k= 18N/m2 0.15X0.41X10.0 o 6ls o
Pin]
fg’ﬁﬁw 0. 41X 2% 10. 0 )
AT 8.20 m
PEAFD13 0. 41X (10. 0/0. 50) X 0. 995
8.2 kg
HilFL ¢ 16 X 100 0. 10X (10.0/0. 50)
2.0 m
WIS 7L ¢ 12X 130 10. 0/0. 50
20 &
L h LYy A
NO. 5 +5. 39 0. 280
NO. 6 14. 61 0. 423 0. 352 5. 14
NO. 7 20. 00 0. 438 0. 431 8. 62
NO. 7 +8. 87 8. 87 0. 445 0. 442 3.92
7t 43,48 m 17. 68 m?




EEE1E 1R Hn B O HE &
W 5 FKIG1=50 BRIET 2 &A% =150 RC-40 o
Wr A ¥ B = Wr i o B &= Wr i ) &

6 5 UK I T2
NO.7  + 8.87 2.3 — — 2.3 — — NO. 7+14. 50/t i
NO.7  +14.50 5.63 2.3 2. 30 12.9 2.3 2. 30 12.9
NO. 8 5. 50 2.4 2.35 12.9 2.4 2.35 12.9
NO.8  + 0.08 0. 08 2.4 2. 40 0.2 2.4 2. 40 0.2 NO. 817 i

at 11.21 26. 0 26. 0
T 5 URLKEE T
NO.8  + 0.08 2.4 — — 2.4 — — NO. 847 i
NO.8  + 4.60 4. 52 2.7 2. 55 11.5 2.7 2. 55 11.5 NO. 8+9. 95K i X 2
NO.8  + 4.60 0. 00 2.7 2.70 0.0 2.7 2.70 0.0 NO. 8+9. 9547 i
NO.8  + 9.95 5.35 2.7 2.70 14. 4 2.7 2.70 14. 4
NO. 9 10. 05 2.6 2. 65 26. 6 2.6 2. 65 26. 6
NO.9  + 5.20 5. 20 2.7 2. 65 13.8 2.7 2. 65 13.8
NO.9  +12.90 7.70 2.2 2. 45 18.9 2.2 2.45 18.9
NO.9  +13.70 0. 80 0.9 1.55 1.2 0.9 1.55 1.2 NO. 9+12. 9T

AR 5.9 5.9 AT A B (VA [ %)
i 33. 62 80.5 80.5
&5 106. 5 |m® 106. 5 |m®




=T % B 3 H &
A PR a7 ) — NEEEL T AT 7oL EIERE L P
Wr T N B &= Wr i 1 B & Wr i N B &

WERR SR
NO.5  + 5.39 1.0 — — NO. 5+5. 90K
NO.5  + 5.90 0.51 1.0 1. 00 0.5

0.5

657K T
NO.7  + 8.87 0.2 — — 2.6 — — NO. 7+14. 507 i
NO.7  +14.50 5.63 0.2 0.20 1.1 2.6 2. 60 14. 6
NO. 8 5. 50 0.2 0. 20 1.1 2.7 2. 65 14. 6
NO.8  + 0.08 0.08 0.2 0.20 0.0 2.7 2.70 0.2 NO. 8147 i

11.21 2.2 29. 4

T K& T
NO.8  + 0.08 2.7 — — NO. 88T if
NO.8  + 4.60 4.52 3.0 2. 85 12.9 NO. 8+9. 957 i
NO.8  + 4.60 0. 00 0.2 — — 3.0 3.00 0.0 NO. 8+9. 95K
NO.8  +9.95 5.35 0.2 0.20 1.1 3.0 3.00 16. 1
NO. 9 10. 05 0.3 0.25 2.5 2.9 2.95 29. 6
NO.9  + 5.20 5.20 0.2 0.25 1.3 3.0 2.95 15.3
NO.9  +12.90 7.70 0.0 0. 10 0.8 2.7 2. 85 21.9
NO.9  +13.70 0. 80 0.9 1. 80 1.4 NN A

33.62 5.7 97.2
it 8.4 126. 6 |’




WELT

6SURIKEE L=11.2m

o

TSURIKEE L=33. 6m

=
2

it B OF

AsEfdE S > # —H)WF t=50mm L= 3. 7+6.6+1. 6
=11.9 m

SRR RS A= 0. 6+3. 2+2. 1
=5.9 m2

B 6 200f(E L=4.2 m




HIAT ¥ B H H &
N 'I\__ - 2
W phpag |27 9~ b o ck=18%/m2 _ _ "
Wom | E % | & & | W @ | F % | % & | B o@m | F B | & &
BERR SIS
NO. 5 + 5.39 0.8 — — NO. 5+5. 90K &
NO. 5 + 5.90 0.51 0.8 0. 80 0.4
0.4
s 0.4 |’
a4y )—Fk
o ck=18N/mm’
150
vi1.14] o
\ s © S
Y ™~ prey




FEan

BRI 22 X 1524 X 6096

NO. 5+5. 9~NO. 7+8. 868

L=42. 968m
W=1. 524

% B i H #

1604kg/Fr X T

A=65. bm2

L=42. 968 m

=11. 2t

1.524

H A= 65m2




